> for m from 1 to ordre do

FF|Im :=

mtaylor(expand(expand(FF)), [z,s,zb,sb,v], m+1, [1,1,1,1,2])
;ntaylor(expand(expand(FF)), [z,s,zb,sb,v], m, [1,1,1,1,2]);
od;

FFI1:=0
FF2:=zzb

-1 2 1 2
FF3: ) sb + ) zb" s
FF4:=zzbssb

FF5 :=z3 sb2 —I—szzb3 + % ssbzz2 + % zbzszsb
FF6 = —22S22b3 —2ZZSZb3 -|-322szbsb2 + % s3zb3 —|—zzbs23b2 —2Z3Zb2Sb+3ZS22b2Sb

+ % z3sb3 —2z3zbsb2

FF7:= % s3zb4—6zzszzb2sb +2s32b2sb+4z3szb3 + % Z4sb3 +z4zb3 —|—z3zb4
+3 5 zb° sh— % 2 zbsh — 27 zbsh’ +2 szbsh — % 250 zb° +2 2 zb sb

+ % S sh +325sh — 62 5zb sb+ % B8 — 62 520 sh— 62 5 zb° sb

432 zbsb? 4225z + 325z sbh +42zb sh— 2250 zb'

FF8:=zzbs’sb’ +z5°zb° sb> + 25 zbsb* + 92 s zbsb + 9z zb° sb* + 13—4 zs° zb’ sb
+122 52" sb— 625" 2b" sh— 62 szbsh” + 92§ zb* sb” + 6 2 szb° sb” + 12 2* s zb” sb
+62 5% zb sb+ % Pszbsh — 142 szb sb* — 14 2 57 2b° sb — 4 2 s zb° sb°

—4zzs3zbzsb —623 szzbsb2 —6zszzl)3sb2 +s3zb3sb2 +4Z3SZb4 — 12242bsb3

+ 4725 b+ 13—0 P sb +32 0 sh+2ssht+5 2B shb—57 sz + 13—0 25z
—4Z4Zb2Sb2—SZ3Zb4Sb— 122532194—4zzszzb4+3zzszb5 — % ZSSb3 + % Z4sb4
—2252b3 + 13 s4zb4—223zb5 _2 3Zb5+23S2Sb3
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> for m from 0 to ordre-2 do
AA||Im :=
mtaylor(expand(expand(AA)), [z,s,w], m+1, [1,1,2])
;ntaylor(expand(expand(AA)), [z,s,w], m, [1,1,2]);
od;

AAO:=a +1b
AAl = (-a+1b)s+ (2a—3c+21b+1d)z
AA2:=(2a+2c)w+ (2Qa—4c+21d) 2+ (-c+1d) zs
AA3 = (-2a+2c)sw+ (-d4a+4c)zw
AA4:=0
AA5 =0
AA6:=0

[> for m from 0 to ordre-3 do
BB|Im :=
mtaylor(expand(expand(BB)), [z,s,w], m+1, [1,1,2])
;ntaylor(expand(expand(BB)), [z,s,w], m, [1,1,2]);
od;

BBO:=c+1d
BBl:=(21d+41b)s+ (4a+41d):z

BB2:=(8a—8c+41d—41b) 7+ (-6a+61b—c+1d)s+ (4a—12¢c+81d) zs

BB3:=(4c—41d) 2+ 21b—2a)s + (-121b+12a) Zs+ (-8a+8¢)sw+ (
“121b+12a+61d—6¢) zs

BB4:=(8a—8c)Zw+ (-6a+6Ib)z 4+ (-121d+241h—24a+12¢) 2 s+ (8 a

—2¢c421d—81h)zs + (-12a+121b+12¢—121d) 25+ (-12a+12¢) s w

BB5:=(—12Ib+12a+61d—6c)25+(—24c—301b+30a+24ld)z4s+(—2Oa
+201h+8¢c—81d) 2+ (-12¢c+121d) 25+ (-da+4c)sw—+ (-24¢
+24a)zs2w+(—24c+24a)zzsw

> for m from 0 to ordre-1 do

CC|Im :=
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mtaylor(expand(expand(CC)), [z,s,w], m+1, [1,1,2])
;ntaylor(expand(expand(CC)), [z,s,w], m, [1,1,2]);
od;

CCO:=1e
CCl:=(2a—21b)z
CC2:=(4a—6¢c)w+ (c—1d) 7

CC3=M4a—4c)zw
CC4:=0
CC5:=0
CC6:=0
CC7:=0 @)



